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Immediately fill in the particulars on this page of the Test
Booklet with Black Ball Point Pen provided in the examination
hall.

This Test Booklet consists of three parts - Part I, Part II and
Part III. PartI has 30 objective type questions of Mathematics
consisting of FOUR (4) marks for each correct response.
Part II Aptitude Test has 50 objective type questions
consisting of FOUR (4) marks for each correct response.
Mark your answers for these questions in the appropriate
space against the number corresponding to the question in
the Answer Sheet placed inside this Test Booklet. Use the
Black Ball Point Pen provided in the examination hall for
writing particulars/marking responses on Side-1 and
Side-2 of the Answer Sheet. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a separate
Drawing Sheet which is also placed inside the Test Booklet.
Marks allotted to each question are written against each
question. Use colour pencils or crayons only on the Drawing
Sheet. Do not use water colours. For each incorrect response
in Part I and Part II, Y2 (one-fourth) marks of the total marks
allotted to the question (i.e. 1 mark) would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an item
in the Answer Sheet.

There is only one correct response for each question in Part I
and PartII. Filling up more than one response in each question
will be treated as wrong response and marks for wrong response
will be deducted accordingly as per instruction 2 above.
The test is of 3 hours duration. The maximum marks are 390.
On completion of the test, the candidates must hand over the
Answer Sheet of Mathematics and Aptitude Test-Part I &
IT and the Drawing Sheet of Aptitude Test-Part III alongwith
Test Booklet for Part III to the Invigilator in the Room/Hall.
Candidates are allowed to take away with them the Test
Booklet of Mathematics and Aptitude Test-Part I & II.
The CODE for this Booklet is W Make sure that the CODE
printed on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part III) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for replacement
of the Test Booklet, Answer Sheet and the Drawing Sheet.

Do not fold or make any stray mark on the Answer Sheet.
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Part I / YT I
Mathematics / TifUTa

If A and B be two finite sets such that the
total number of subsets of A is 960 more
than the total number of subsets of B, then
n(A) —n(B) (where n(X) denotes the
number of elements in set X) is equal to :

1 2
2 3
() 4
4) 6

If A; and A\, are the two values of A such
that the roots a and B of the quadratic

equation, A(x2—x)+x+5=0 satisfy
g+E—Iré=0,then)\—%+)\—§isequal
B« AN

to:

(1) 536

(2) 512

(3) 504

(4) 488

If (x+iy)2=7+24i, then a value of
1

1
— (7-J-576)" is

(7 + v-576)°
1) -3i

@) 2

) 6

@) —6i

1.

I ATN B IRAd Gg=a WETFASF

T TGl ki &, B Fad ITHLHA
HT =& G 960 AfUF 7, A n(A)— n(B)

(\‘%‘T n(X), 9= X 3794 hl AT I
?) W T :

1
2
3

N B W N

(
(
(
(4

)
)
)
)

Ifg A, TNy, N T AF € T fgmmd
HHIRT A(x2—x)+x+5=0% 9o o, B TH

%WE+B+g 0%@[A1+A2w

a 5 M
?:
(1) 536
2) 512
(3) 504
(4) 488

A (x+iy)2=7+24i &, A

1 1

(7 +V=576)* — (7 — V=576 ) ol U M
T

1) -3

2) 2i

3) 6

4) —6i




Let S be the set of all real values of ‘a” for
which the following system of linear
equations

ax+2y+5z=1

2x+y+3z=1

3y+7z=1

is consistent. Then the set S is :
(1) equaltoR
(2) equal to R—{1}
(3) equal to {1}
(4)

an empty set

For all real numbers x, y and z, the

determinant
2x XY —xz y
2x+z+1 xy—xz%—yz—z2 1+y s equal
3x+1 2xy—2xz 1+y a
to:
(1) zero
2 @-y) y—2) (z-%)
B (-yz) (y—2)
4)  y—xz) (z—7)

An urn contains 5 red, 4 black and 3 white
marbles. Then the number of ways in
which 4 marbles can be drawn from it so

that at most 3 of them are red, is :

(1) 455
(2) 460
(3) 490
(4) 495

AT S, ‘a’ & AW adfash AF 1 9= ©
oo fau s g fHam

ax+2y+5z=1

2x+y+3z=1
3y+7z=1
T (consistent) §, T FH=A S :
(1) R % U &
(2) R—{1} % R T
3) {1} % TR ¥
(4) T o wg=a ¥

x, y 991 z & |t aredafas gemsti & fag,
HR{UTeR

2x Xy —xz v

2x+z+1 xy—xz+yz—22 1+y
3x+1 2xy—2xz 1+y

TR ®

1 =)

2 -y (-2 (z—2)
@) (x~yz) (v—2)

(4)

Teh AW § 5 ATc, 4 hled a1 3 Ghe &g § |
Al 37 Tlehl, TS5 e ° | 4 o et S
ghd € for =78 9 sifye 9 fss 3 o &,
HHET®

(1) 455

2) 460
(3) 490
4) 495

SPACE FOR ROUGH WORK / T% @19 & feT smrg



If the digits at ten’s and hundred’s places
in (11)2°16 are x and y respectively, then
the ordered pair (x, y) is equal to :

1 (L6
2 1)
G &1
@ L3

Let a;, a,, a3, a4, a5 be a G.P. of positive
real numbers such that the A.M. of a, and
a, is 117 and the G.M. of a, and a, is 108.
Then the A.M. of a; and a; is :

(1) 108
@ 117
(3) 1445
(4) 1455

If the sum of the first 15 terms of the series

3+7+14+24+37+ ... .. is 15 k, then k
is equal to :

(1) 122

(2 81

3) 119

(4) 126

Ffq (11)2016 F T7TE TN Hehg o T W SHuwl:
feh 1 Ay B, N AT I (x, y) WO R :

Af< ay, a,, ag, a, A1 a5 Teh YCH (I
Temsl it T O 5@ ¢ {6 a, A a, A
THIG HEA 117 € T a, A9 a, 1 IO
oA (G.M.) 108 B, Tl a, Tl a5 FI TN
AT

(1) 108

2) 117

(3) 144.5

(4) 145.5

afe N 3+7+14+24+37+ ... .. ERe e

159 HAMI5 ke, O kTR -

1) 122
2) 81

3) 119
4) 126

SPACE FOR ROUGH WORK / T% &1 & foq s



10.

11.

12.

lim log (sin7x + cos 7x) equals :

x—0

sin 3x

—
N

~

= W[\
w|g «@l

—~~
w
N
W= W]
o
o
o)
N

If the function f: R — R, defined by
ax, x <2

x =
fx) axz—bx+3, x =2

is differentiable, then the value of
f'(=3)+f'(3) is equal to :

1 3
(2) 4
15
G 5
4) 0

The sum of the abscissae of the points
where the curves,
y=kx2+ (5k+3)x+ 6k +5, (keR), touch

the x-axis, is equal to :

19
1 3
10
2 3
5
G 3
4
4 ~3

10.

11.

12.

lim log (sin7x +cos7x ) qyew ¥ -

x—0 sin 3x
n 2
m 3
y 1
@ 3
3 L
G 3
1
—log 7
@ 3los

If weM f: R - R, S
ax, x <2

f(x):{axz —bx +3, x=2

g1 gfvurfeq €, staswaHia @, @

f(=3)+f'G)HAAT :

1 3
(2) 4
15
G 5
4) 0

57 fofgett % x-frdwient =1 4w, =i @
y=kx2+ (5k +3)x + 6k +5, (keR), x- 378
ﬁ@ﬁaﬂ?ﬁ%%:

19
1 3
10
2 3
5
G 3
4
@4 ~3




13. Water is running into an underground | 13. T YfH77d &el it YaaThR kI, S 10 .
right circular conical reservoir, which is el qen fSeeh SR =t 5 5 . %, g
10 m deep and radius of its base is 5 m. If M| Al Tt o I o STIGH § TR
the rate of change in the volume of water . .

8 FIR S 3/ &, A2 5 w e
in the reservoir is %’W m3/min. , then the B (q"},/ﬁ:[, = ) I T %,
rate (in m/min) at which water rises in it, g
when the water level is 4 m, is :

3 3
o 3 o 3
1 1
@ 3 @ 3
1 1
G G 5
3 3
@ 5 @ 5
x+2 x+2
14. The integral dx | 14. THERA I dx ST
8 I(x2+3x+3)\/x+1 (x2+3x+3)\/x+1
is equal to : g
1. 4] x ] 1 4] x ]
M FE | Bay | T M B By | T
2 -1 I X | 2 -1 I X |
@ FE\Beey| T @ [F |\ Been| €
2 t_l_ - _+C 2 t_l_ - _+C
®) ﬁco NES 6)) ﬁco Jx+1
| B 1 | xB ]
(4) TCOt '_x—i-l + (4) ﬁcot ,_x+1 +
(where C is a constant of integration) ( SRl C T TR 3R © )

W/Page 6
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T4 "7

dx dx
15. The integral 1 1 3h5. isequalto: [ 15. GHIhA SR T
1+ 3tan2x 1+ 3ftan2x
Tha Tha
) = ) =
o 3 o 3
) — ) —
3) = 3 =
6 ¢ G %
5 = ) =

16. If the line, y=mx, bisects the area of the | 16. gfe y=mx, &

region
3 2 3 2
{(x,y):0=x= PY O0<y<14+4x—x°}, then {(x,y):0=x= bY Osy<l+4x—x“}=H1 QA
m equals : SR 9N | fawfSd A &, T mFIAAR :
9 9
1 g 1 3
13 13
2 5 @ =
13 13
6 - ® 5
39 39
@ 1 @ 15

W/Page 7 SPACE FOR ROUGH WORK / T% & & foiq smtg



17.

18.

19.

The order and the degree of the differential
equation of all ellipses with centre at the

origin, major axis along x-axis and

J3

eccentricity X~ are, respectively :
2

M 1,1
@ 21
G) 1,2
4) 2,2

If an equilateral triangle, having centroid
at the origin, has a side along the line,
x +1y=2, then the area (in sq. units) of this
triangle is :

(1) 6

(2) 63
9

@) V3

“4) 36

The equation of the circle, which is the
mirror image of the circle, x2+ y2 —2x=0,

in the line, y=3—x is :

(1) x2+y>—6x—8y+24=0
(2) x2+y>—8x—6y+24=0
(3) x*+y*—4x—6y+12=0

(4) 2>+y*—6x—4y+12=0

17.

18.

19.

1 Tl <refge, fomen & g foig § <

3787, x-3787 i Tum H § q1 Scohegall f%,é:

STl THRIUT R hIfe qoT ST SHAT: ©

1 1,1
2 21
@) 1,2
4) 2,2

T g S, Seet Sk o foig €, &
Tk T @ v +y=2 %I e ¥ g, @ Frgw

1 &Rl (o gehrEal ) ¥ ¢
(1) 6
(2) 643
9
@) V3
4) 36

3G I H FHIRW], ST a2+ y2—2x=0
1@ y=3—x H T90 yfafeal &, T :

(1) x2+y>—6x—8y+24=0
(2) x2+y>—8x—6y+24=0
(B) x*+y>—4x—6y+12=0

(4) >+y*—6x—4y+12=0

SPACE FOR ROUGH WORK / T% &1 & foq s



20. The product of the perpendiculars drawn 20. e % é—S — 1 1 T § gk faig
from the foci of the ellipse ﬁ + ﬁ = 3 5\/—
9 T o5 > WG T e W WS ™
upon the tangent to it at the point E@IWW%
3 5v3
22 )
1 9 1 9
) 18 , 18
2 43 2 3
(3) 18 3) 18
(4) 313 4) 3J13
21. Which one of the following points | 21. =1 @ @ H1A-91 fag @Afquiaaa
2
does not lie on the normal to the hyperbola, 316—6 - J? 1% ﬁ’s’; 8, 3f G T
x? y2 : . .
I 1 drawn at the point Afeis TR feerd &t ® 2
(8,3/3)?
1
1 13 ——
13, —= (1) ( / j
o (2% V8
1
1 12, —
12, — (2) ( , j
@ (2 ) 3
(3) (11, \/g) 3) (11, \/g)
@ (10,V3) @ 10.V3)
W/Page 9 SPACE FOR ROUGH WORK / T% & & foiq smtg



22.

23.

24.

If the shortest distance between the lines
x+2N=2y=—12z, x=y+4N=6z—12\ is

4+/2 units, then a value of \ is :
@ 2

2
3)

4)

ol 2

The perpendicular distance from the point
(3, 1, 1) on the plane passing through the
point (1, 2, 3) and containing the line,

—> A A A A A
r =i+ j+NQi+ ] +4k), is:

- -
Three vectors 5, b and ( are such that

‘ =2, ‘?‘ =4 and
= 8 . Then the value of

- -
4a-b +3b-c +3c-a isequalto:

1) —68
2) -26
(3) —34
4) 27

22.

23.

24.

Ifg @l x+21 =2y = —12z,

x=y+4\=6z— 12\ F o= A T 442
THE R, ANPITH AFR

(1)
(2)
(3)

(4)

S gﬁﬂw

&g (3,1, 1) 9 T 9Had, s feig (1,2,3) @

FLEEOS 11 S VI £ B COR R
- A N N N A
r=i+j+NQ2i+j+4k) @y w

da gfew :, b o o g ¢ f=

Y B B
at+b+c=038d
4a-b+3b-c+3ca FATE
(1) -68

2) -26

3) -34

4) 27

W/Page 10
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25. Two numbers are selected at random | 25. JIHS: Wﬁﬁﬁ@awﬁ(muﬁww

(without replacement) from the first six %) AgeSA A e A X A H H B
positive integers. If X denotes the smaller @& *i geffd &wIar §, @ X i goamen
of the two numbers, then the expectation (Expectation) ¥ :

of X, is:

L, 1 L

1 3 M3

, B , 1

2 3 (O

3 Z 3 L

G) 3 G 3

y > o 2

4 3 @ 3

26. If A and B are two independent events | 26. afg A q91 B €1 TEqs ‘EIEHTQ' Tt FSRED

such that P(A) = % and P(AUB) = %, P(A) = % 9T P(AUB) = % g, @l
then P(A N B) is equal to : P(A NB) s&IX g
1 1
1 = ¥ 3
1 1
@ 70 @ 70
3 3
G 1z G 1z
3 3
4 35 4 35

W/Page 11 SPACE FOR ROUGH WORK / T% & & foiq smtg



27.

28.

A bag contains three coins, one of which
has head on both sides, another is a biased
coin that shows up heads 90% of the time
and the third one is an unbiased coin. A
coin is taken out from the bag at random
and tossed. If it shows up a head, then
the probability that it is the unbiased coin,

1S

5
M 15
5
@ o5
1
G 3
3
@4 3

The value of o + 7= S; 2ag s
1) 242

@) %

() %

@ -2

27.

28.

T It H 7 fageh €, o 9 T & 9Fi 3R
o €, 3o faeem Sy (biased) T 58 W
ot 90% aR Yehe Brar § R de i
fogm &1 91 ° 9§ e fagent aigssan e
T IBTEN T | Afe Faah W faa w71, @

3G A TRt 2R 1 wifaehdar € ¢
5
1 15
5
2 5
1
® 3
3
4 3
1 1 5,
c0s285° /3 sin255° FIHM @ :
1) 2v2
42
SN
o A2
4 3-2

W/Page 12
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29.

30.

An observer standing at a point P on the
top of a hill near the sea-shore notices that
the angle of depression of a ship moving
towards the hill in a straight line at a
constant speed is 30°. After 45 minutes,
this angle becomes 45°. If T (in minutes) is
the total time taken by the ship to move to
a point in the sea where the angle of
depression from P of the ship is 60°, then

T is equal to :

(1)  45(1 + /3)

Which one of the following statements is

a tautology ?

1) (Pva—q
2 pvip—9
®) pv@—p

4 p—o>@E—9

29.

30.

T U9eh FYg o I od T RISt i =il
P T TSl TR Teh SIS Bl STTHA I 30°
T ¥ | STETS U THM e 9 Tk O @ §
RISt i SR MW@ 7| 45 e & 9 =@
IV 45° B S g | AfG T H 9% T f9g,
fen foig P A e o1 310 107 60° ¥,
T Igen 1 g g (Frd #) T8 @ T
R T :

191 5 9 F-91 e T Il (Tautology)
g7

1) (Pvay—q
2 pvp—9
B) pv(@—p

4 p—o@pP—9

W/Page 13
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Part II / YT 11
Aptitude Test / 31l udteror

Directions : (For Q. No. 31 to 33). The problem figure shows the top view of an object. Identify
the correct elevation from amongst the answer figures looking
in the direction of the arrow.

fder: (9. 31 @33 & fom) Tv7 3TFIT H (el a%g HT SR g9 @ T &1 AR Ht
1o ST gY ST STFaEl 7 G 391 T8l TG 9 Tl |

Problem Figure / 9 371ld Answer Figures / 3 S

(1) (2) ®) (4)

31.

32.

[] |l_l| 1
| | | | | |

0 1) (2) 3) (4)

33.
= é é é
1) (2 3)

W/Page 14 SPACE FOR ROUGH WORK / T® &M & T sie




Directions : (For Q. No. 34 to 36). Identify the correct 3-D figure from amongst the answer figures,
which has the same elevation, as given in the problem figure
on the left.

f[E9r: (7. 34 @36 & @) | 3-D IW 3TFiaEl § G 39 STFId &l G149 79 ], Tg@
§vg J¥T 3 la q faerdl &l

Problem Figure / F97 3Thld Answer Figures / 3tX 37777»'7%127?'

“ s @ @

(1) (4)
35. @ @
(1) (2) (3) (4)
s [T @ @
(1) 2 ) (4)
Directions : (For Q. No. 37 to 40). Which one of the answer figures is the correct mirror image of
the problem figure with respect to X - X ?
f[e9r: (.37 @40 & forw ) | ST STFadl G P-4l SHT &1 T2 J97 SMHla FTXK - X &
Tl Tel g9 Fldfe & 2
Problem Figure / %7 3hld Answer Figures /| 3 srlarar
X
C 48 W & &
X (1) (2 3) (4)

W/Page 15 SPACE FOR ROUGH WORK / T% & & foiq smtg



Problem Figure | 97 3Tld Answer Figures / 3 ST

X
X (1) ) 3) (4)
X
X 1) ) 3) (4)
X
X (1) ) 3) (4)

Directions : (For Q. No. 41 and 42). Which one of the answer figures will complete the sequence of
the three problem figures ?

fFdor: (w41 sika2 & fow )i T SFIaT T G FiT-GT SHT F1 AT G STFE 7 T
G 3779 (sequence) T & ST ?

Problem Figures | H¥7 377?77%127?' Answer Figures / 3X 377?7%127?'
<& 0 01 I = 0 N
= =< = ? OoX= OX= OX= =0
o S a 0 i i
1) (2) ®) 4)
42 ? <C S = <o

W/Page 16 SPACE FOR ROUGH WORK / T® &M & T sie



Directions : (For Q. No. 43 to 45). Which one of the answer figures shows the correct view of the

3-D problem figure after the problem figure is opened up ?

fFE9r: (743 @45 & @) | 3-D F¥7 3MHId & Gierd W, W Flaal § 7 & §vg

FIT-T 8?2

Problem Figure / 997 3fIshld Answer Figures / 3 S

.4

il

i

i i i 8

JL JL JL L

oAl L

1) (2) 3) (4)

W/Page 17
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Directions : (For Q. No. 46). Omne of the following answer figures is hidden in the problem figure
in the same size and direction. Select the correct one.

f[E9r : (7 46 & @)1 74 & T IR SHIaA H G TF SHIT AT SR 9 7 qHT G G
g9 Pl 7 g &1 FA-d1 7@l & g

Problem Figure | F97 STld Answer Figures / 3X 377;5‘7'7?/27?'

46. ||_ l_‘"ﬁl . ﬂ H 3
41';_ _I|J @ 2) (3) (4)

Directions : (For Q. No. 47 to 50). The 3-D figure shows the view of an object. Identify the correct
top view from amongst the answer figures.

f[E9r: (W47 @50 & fo@ ) | 3-D ¥ 3TFId § T a5 & U g9 &1 [o@rT T &1 §TH7
el ST §vT, I Pl 7 q TEAd |

Problem Figure /97 3Ihid Answer Figures / 3tX 377;5‘7'7?/27?'

47.

48.

49.

e
| —
o L
| —
> L
=
= L
=

W/Page 18 SPACE FOR ROUGH WORK / T® &M & T sie



Problem Figure /597 37ld
50.

Directions : (For Q. No. 51 to 53).

T : (W 51 @53 & form)i

Problem Figure / F97 3Thld
51.

e
52.

e
53.

e

Answer Figures /| 3 377?77%/?#

1) (2) 3) (4)

The 3-D problem figure shows a view of an object. Identify
the correct front view, from amongst the answer figures, looking

in the direction of arrow.

3-D F¥7 3TFT & TF a5 & U §v9 1 fo@rar T &1 ax
F! I 9 3@d §U 9% T8l GHE 599 &1 I Hlad 5 G
BT |

Answer Figures / 3tX 3777?'7%/2#
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Directions : (For Q. No. 54 to 56). The 3-D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking

in the direction of arrow.

fE9r: (7. 54 @56 & fow) 3-D F¥7 3TFIT & T a%g & U G997 %1 fo@rar T &1 an
F1 Ie9T 4 3@d §U 9% T8l GHE 599 &1 I HlaT 5 G
YgIT |
Problem Figure / 97 3T&hid Answer Figures / 3 37759'/?/?#
54.
,_|_|: ,_|_|: ,_l_I: : []
L l [ ] |
1) (2) () (4)
AN
55. ] ,_|_|: []
I H — Alz‘f _I_|_
(1) (@) () (4)
AN
56.

L
i
T

(1) (2) ()
AN

Directions : (For Q. No. 57 to 60). The problem figure shows the top view of objects. Looking in
the direction of the arrow, identify the correct elevation, from

amongst the answer figures.

T : (9.57 @60 & fomw) i T¥T 3Tl § agsn 1 SR v fearr war &1 dik Pt e &
@A §U SR Haal 5 G Gel THE g9 T |

Problem Figure / H37 377%"7%/ Answer Figures / 3tX 377;5‘7'7?/27?'
57.
0% Wil milh el ik
O o
T (1) 2 3) (4)
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Problem Figure / 997 3fIshld Answer Figures /| 3 ST

oSy L pAL Rl R

i (1) @) (3) (4)

59.

R Mt M I A
(1) k) (3) (4)

199 mh mh oA AN

Directions : (For Q. No. 61). From the top view given in the problem figure identify the correct
3-D figure from amongst the answer figures.

g9 : (W61 & for@) | g TE gYT SMPId F ST 9T H Ggl 3-D I SFladl 7 G
TEEITY |

Problem Figure / F¥7 3TThld Answer Figures / 3t¥ 3777?'7%/2#

B O
(1) (2) (3) 4)
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Directions : (For Q. No. 62 and 63). The problem figure shows the elevation of an object. Identify

the correct top view from amongst the answer figures.

3T : (7. 62 363 & for@ )1 TvT STFld H fohdl a%q 1 GG §¥F Q@ T 81 FH
SFla 4 G 9H1 Gel SR §¥F T4 |

Problem Figure / 97 ek Answer Figures / 3 3‘77597%1?#
| ! ! !

(1) (2) ) (4)

62.

63.

! ! ! !

(1) (2) ®) (4)

Directions : (For Q. No. 64 and 65). Find the odd figure out of the problem figures given below.

fE9r : (7 64 3765 & forw ) | 74 & e geT sl § 9 fawm swfa g1 |

) \ / @ @
1) 2 ) (4)

65.

[ /\ [/

1) (2) () (4)
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66. Which color is obtained by mixing red and

yellow colors ?

(1)
(2)
(3)
(4)

Purple
Pink
Orange

Brown

67. Salim Chisti mosque is located in :

Gwalior
Fatehpur Sikri
Hyderabad

Delhi

68. Temperature of the Earth due to the
‘Greenhouse Effect’ :

1)

Increases
Decreases
Remains constant

Keeps increasing/decreasing

69. Vertical sun protectors over wall openings

help in cutting off summer sun rays on :

South side

West side

North side

On all sides

66.

67.

68.

69.

AT Tl et T eI & g 91 7 a1 & 2

e
TR faw
S
fireetl

Gt ST A9 ‘T B9 gv9e’ 9

&AM T
e ®
Teh T &l §

STl / e el §

Taresh! o @1 ol T S e g fRon
1 ford foun o wred €2

TFeTor it Wh
af¥=m i WH
IW H WH

B A%
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70.

71.

72.

73.

Which one of the following is not a load

bearing component in a building ?

1 Column

2 Beam

(1)
(2)
(3) Partition wall
(4)

4 Concrete floor slab

Which type of roof will provide maximum
protection from heat radiation in a
building ?

(1) Painted aluminium sheeting
(2) Concrete slab with plaster

(3) Concrete slab with mud and brick
tiles

(4) Concrete slab, water proofed and

covered with a roof garden

Ellora temples are :

1 Made in marble

(1)

(2)  Built in sandstone
(3) Cut out of rock
(4)

4 Built in wood

Gol Gumbaj of Bijapur is :
(1) A Fort
(2) A Mausoleum
(3) A Palace

(4) A Mosque

70.

71.

72.

frfafea § 9 sF &1 waHl § YR 33 a1
fee =l § 2

(1) T
(2) WER

(3) faasm R

(4) hehie St WY gfea

frafafaa & &R o a9 werl | 7 fafeo
Y wed sAferen gran < ?

(1) T Tgfafam ==

(2) whshI Ui WIS & |1

(3) whehie ufea fugt wd €S i <Eew &
i

(4) S GfEd, IUFSd W TRl gs hshie

T o Hfex

(1) HTRRI AT

(2) T SIS TR | o
() TEHHIFLETLE

(4) THSH AT
SfISTR 61 et Trarst

(1) T fohem &

2) TH THI T

(3) THHEA©

(4) TFHARGRE

W/Page 24
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74. Buland Darwaza is located in : 74. TAS ST oy H feerd B2
(1) Fatehpur Sikri (1) R o
(2) Red Fort (2) I fehem
(3) Agra Fort (3) AR I foreT
(4) Golconda O ERISETS)
75. BigBenisa: 75. foremang?
(1) Clock Tower (1) ==
(2) Palace (2) HEd
(3) Mosque (3) &K
(4) Temple (4) Wi
76. IGBC stands for : 76. TS, fhe w1 Ui T 2
(1) International Great Beautiful City (1) S e o I
(2) Indian Green Building Council (2) YR BRa wed giug
(3) Indian Great Building Center (3) RN 9l Wed e
(4) Indian Government Biological (4) YRAE TR Sifas &g
Center
77. Solar energy is converted to electrical | 77. |3 il fry 9 fostelt # gfafdd St 7?2
energy by :
(1) Photovoltaic cells (1) TICMEdEesh Hod
(2)  Electro magnets (2) faga g
(3) Bio technology (3) EERIEINED]
(4) Rain water (4) oS R 9L
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78. The ruins of Hampi are located in which | 78. & & Wee fha T # feord ¥ 2
State ?
(1) Karnataka (1) Afeh
(2) Andhra Pradesh (2) Y U=
(3) Kerala (B) *H
(4) Tamil Nadu (4) dfFerETg
79. What is Venice famous for ? 79. afa foa & fog Aemz § 2
(1) Canals 1) =
(2) Mountains (2) TEq
(3) Valleys (3) =feat
(4) Springs (4) =H
80. Pyramids are located in : 80. fuufire war fee €2
(1) Rome 1) =
(2) Egypt (2) o=
(3) Greece @) 7=
(4) Ethiopia (4) st
-000- -000-
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Read the following instructions carefully :

Fefefiaa (3T earT @ ug

1. PartI has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part IT (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part II, Y (one-fourth) marks of
the total marks allotted to the question (i.e. 1 mark)
would be deducted from the total score. No deduction
from the total score, however, will be made if no response
is indicated for an item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in five pages (Page 27-31) at the end of
the booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part1
& I and Drawing Sheet of Aptitude Test-Part III to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part I & II.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) are not
allowed.

8. The candidates are governed by all Rules and
Regulations of the Examination body with regard to
their conduct in the Examination Hall. All cases of
unfair means will be dealt with as per the Rules and
Regulations of the Examination body.

9. No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
room/ hall.

1.

et o W 1 H 71ford & 30 g o9 § s uere
T % TE W F A AW (4) Fw Fuifa 52 = )
Tt 11 ( 3tfvefa e # 50 seqfe we € e uere
TR S & fAU =w (4) 31 § | IR o6 W I H 2 799
g e fere 70 sier feifia B | o oo S5t o giaen
o ST TE TET I W HM | T I 7 Huifa
31k I9 o T SifeRd €1 9m 1$R 9FT 11 H g
T 3V o foTe 36 g & o i o sfwi 4 9
Yy (wep-witerg) s (HA9q 1 i) Fo1 A H F w1
o S | afe S o ot oA i I e
TR, A e A R 37 T e S |

TheT IRehT, SW U TH SR M 1 SAFYEE TAM
i, Fifer fordt off aftfearfa & (SFaer wdten gfcen wd
W IS & hre § fuerar st feafa wi Srewt) o wian
YReehT SUeTeel T8l ShUET ST |

ST I I IF W B I HE A1 fa@E 1 &
T 1 3TAR T T 1 Gl TR W e 1 s, T
gient § fuifd sre S ff ‘7% @[ & fa s’ g/
TFifehd B, T2 R STRAT | 318 ST Teoish I8 T i<l ot
3R e Yfeaeht & 3id § U™l gt (U3 27-31) R & T
gl

4. A ST Ry el Fiees Sl o yaw Fre feand |

10.

11.

areftersr = Tdiersh bt fodim sTHfa & form i steapeft
ST TIH A B |

TTeT FHE B W, Adf Fteardl &1 oeru
TR — 9T 1 WS Sfuefe qdeqor - AT 11 IO 9 T
aafirfa qlieror-mT 111 =t SIET e < ofR Suftafa o=
TR 3T TEAER QART F o T & TeT 31 B |
U1 7 T T I T ST foh 3T o1 ud Qe viie =i
drere T € 5 erfed Tres v St Soft § 9 S |
STALT U T T ok IS AT 9T Sufeerta o
feu T T W oy TMd | qenfy, stemeff eToet
Tford T Stfefe Theror - 9RT 1TE 11T S gident i
N FRd B

TR/ SEraTerd Ufehetsh a1 STET U0 (S o
Thd, HUTE 1S T TN A5 B |

e et | SR o fery steeft udven ferr o fomi wd
ot gro frafaa 21 efea wrem W & 9 Ama
1 et wieT e & frami e fafei & sTar 8
fordt off feafa & wean giaen, S 931w SR 3
FIE off 9T 9 @ Ter foRen Srwm iR T & Hre SEm
SFeET Tl SR |

TteTT gedent, SR U5 TS ST ¥ie H <t T8 wian gieeh
TE 1 el & aleh 9 wifed T H off ford |
Sreelt g UieT el /el W Ua9T shiS o STera fersdt
YehT hit UTGT |IHT, Ufad o1 gafeTiad, TSt i
ufela, IR, WeTge WiF, Seia (1+1eh SUeRTuT =T feRdt
3T Weh X ohl TTHIT ahl & ST AT SUTT R hi 3TN
T 5l
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